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gus - 31 / SECTION A
eI l;rg@/ Objective Type Questions
A\

;re;r@iw1@100%@}%Ha§maaﬂﬁwq%@m%ﬁaﬁ@rw
Hﬁ%lﬁﬁsomaﬁmélmaﬁmﬂﬁmwﬁwqﬁ OMR

a'ﬁ-c.rqﬂ%ﬁﬁl?rﬁbQ® 50 x 150

Question Nos. 1 te 100 have four options, out of which only one is
correct. Answer -any 50 questions. You have to mark your selected
option on the OMR-Sheet. 50 x 150

1. Ife &Y FATCR @13t & e 31 x 5, 3 T 20, 10, 6 & & x T AT
g |

(A) 10
(B) 5

Download all NOTES and PAPERS at StudentSuvidha.com


Free Hand

http://studentsuvidha.com/
http://studentsuvidha.com/

(C) 3
(D) 40

If the direction ratios of two parallel lines are x, 5, 3 and 20, 10, 6 then
the value of x is.

(A) 10
(B) 5
(C) 3
(D) 40

2. Ffe & FATCR @13 & & 3T aq, by, i TUT @y, by, CZ%a’ra;ZZZ
(A) by
(B) bz
(C) bs
(D) ci

If the direction ratios of t&‘ri)Qparallel lines are a4, by, ¢4 and a,, by, ¢

¥
aicz _ S
2 $\Q
(A) by $

then

(B) b2
(C) bs
(D) cq

3. g e WER oo @3t & & 3qurd 2, 3, 5 TUTx, y, 4 g o 2x +
3y =

(A) 20
(B) - 20
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(C) 30
(D) - 30

If the direction ratios of two mutually perpendicular lines are 2, 3, 5 and
X, Yy, 4 then 2x + 3y =

(A) 20
(B) - 20
(C) 30
(D) - 30

4. |37 — 4] — 5k|
(A) 5v2
(B) 12
(C) 2
(D) 9
~
D
5.[2a -7 1] = [a %@1]=>(a,b)=
@Q
(A) (1, 7) N
(B) (2, 7)
(C) (7, 2)
(D) (2, 3)

1 1 5
4 9 17
5 10 22

(A) 264

6.

(B) 1221
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7 6 1
(A) 0

(B) 1
(C) -1
(D) 12

—sinf  cosO | _
secd cosecO

(A) 0
(B) -1
(C) -2
&
(D) - sin26 &6
&
@Q

o [ R 7=
WE )
(B)
(C)

(D)

OFR OW ON ON
s O
[ —
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10. [6 5] [_11] -
(A) [6 -9]

(B) [-5 6]

(C) [1]

(D) [11]

11. % (Zcos%x) =

(A) —2sin="

3 . 3x
(B) —gsin—
(C) Zsin=
(D) —*sin="

12. %(e—%) -

e—3x

(A) - S\@’\'\\
(B) - Sk
_ \Q?)-
(C) 3e 3% @&Q
(D) —3e73*

d X —
13. 5(11 ) =
(A) x11*1
(B) 11*.logx

(C) 11*.log11

(D)

11*
log11
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15. If¢ x = acos? 0,y = bsin?6, aF % FT AT g
b
(A) -
b
(B) -
(C) Zsin26
(D) —tan® 6

If x =acos?6,y = bsin’0 then the value of % is

(A) 2 g\@@
(B) 2 N

) N
(C) %sin 20 @$

(D) _Tbtanz )

16. 37gehdl HHOT x° dx + y’dy = 0 T & &
(A) X° +y’ =
(B) x* +y* =
(C) xX* - y* =

k
k
k
(D) x* - y* = k
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The solution of the differential equation x* dx + y?dy = 0 is

(A) x> +y° =Kk
(B) x* + y* = k
(C) xX* - y* =k
(D) X* - y* = k

17. G-2D.(k+37-7) =
(A) O

(B) - 6

(C) - 7

(D) 8

18. 3ashdl HIHOT e dx + ¥ dy = O°Fl & &

(A) e3xtdy — [ ®

(B) e3* + % =k SQ\Q
¥

(€) ; “ed 4l e =k Q\Q(6

(D) e3x + e4y +e3&y =k

The solution of the differential equation e dx + e¥ dy = 0 is

(A) e3xtdy — [

(B) e3* +e% =k

(C) s€% +5e® =k

(D) e3x+ ety +e3x+4y =k

19. WW%+%=OWB@T%’I

(A) x =ky
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C) x+y=k
(D) xy =k

The solution of the differential equation df+d7y =0is
(A) x =ky
1 1
(B) S + ; =k
C) x+y=k
(D) xy =k

20. 3 FAROT 2 — ysinx = cotx F FATHT 0T §
(A) sinx
(B) e—sinx

(C) esinx

COS X %S\\6®
(D) e N

QQ’" d

The integrating fac&@of the differential equation ﬁ—ysinx = cotx is
(A) sinx
(B) e Sinx
(C) esinx

(D) eCOSX
21. ] [1 -1] =

(A) [0]
(B) -1 1]
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(A) :281 —06
(B) .274 _02
© [ o
(D) _281 —02

23. —aafm’rx+y<25y asaaa?ﬁaz-6x+3y$r3®wm?r%

(A) 150

(B) 225
(C) 425 ®
: : s\\

(D) 3 & I Tl @
The maximum valug@ Z =.6x + 3y subject to constraints
x+y < 25 =0 @

y = 'y > 0!
(A) 150
(B) 225
(C) 425

(D) none of these

24, gAYt x +y <13, x 2 0,y = 0 & HAAINT Z = x - 3y & 3fhd#
AT §

(A) 39
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The maximum value of Z = x - 3y subject to constraints x + y < 13, x >
0,y =>0is

(A) 39
(B) 26
(C) 13
(D) - 26

25. gl 3x + 4y < 24, x >0, y > 0 & AT Z = 7x + 8y & #geidHA
AT &

(A) 56
(B) 48
(C) 0 (g
(D) -12

The minimum value of Z = 7x + 8y subject to constraints 3x + 4y < 24,
x>0, y>0is

(A) 56
(B) 48
(C) 0

(D) -12
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26. (2t —3]).(G+k) =
A

B) -1

(A) 2
(B)
(C) 3
(D) 0

27. x| <1, 2 tan™ x =

(A) tan™ 2x

2x
14x2

(C) cos™! 2

14x2

(B) sin™!

-1 2x
(D) tan Tz

28. x €R,cot™1x =

(A) % —sin"tx

N
Q
(B) % —cos™'x &g\\
(C) % —tan"lx $&Q%

$

(D) % —sec lx

1 x+
29. tan~! (ﬁ) =
(A) sin"!(x + )
(B) cos™(x + y)
(C) tan™1(x +y)

(D) tan"'x +tanly
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30. sin~! (sin 2?”) =
A
B

(
(
(C
(

) 3
) =
) 7
D)%
31 [13 15][2 0]:

(A) 13 15]

®) |7 ol
(C) (26 30]

(D) :13 O]

m/G
23 Ifit,anﬁdﬂ=

"
(A) O
(B) 1
(C) 2
(D) 3
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34. [sin® 6 cosec’d db =
(A)c+ 0

(B) c +cos 6

(C)c-cos 6

(D)c+sin6

35. [(cosB cosec?8 — cosf cot? 0) df =
(A) logcosecO + cotf + k

(B) cosecO cotf + k

(C) k +sind

(D) 6 +k

36. [(4cosx —5sinx) dx =

(A) k+4sinx+ 5cosx

O
(B) k —4sinx —5cosx g\\
¥
(C) k+451nx—5cos&@’~

(D) k — 4smx+5§sx

3 cos x—2sin x
37. [ s erasm X
(A) 2cosx + 3sinx + k
(B) log|2cosx + 3sinx|+ k
(C) tan™1(3 sing) +k

(D) 2tan§+ k

38 f3x+2 dx =

x3+2x
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(A) sin"1(x3 +3x) +k
(B) tan"'(3x% +2) + k
(C) log|3x2+ 2|+ k
(D) log| x3 +2x |+ k

dx
x2+5

39. [

(A) tan—1§+ k
_1i

(B) tan \/§+ k

1 —
(C) Ftan 1%+ k

_1i
(D) V5tan \/§+k

40. f_11 log (ﬂ) dx =

3—x

(A) O
(B) 1
&
(C) 2 log 3 §2§
&
(D) 3 log 2 $Q

41. afg A 3R B -Fad9 ge1e g, P(A) = 0.3 dar P(B)=0.4 g P(AnB) =
(A) 0.12

(B) 0.21

(C) 0.75

(D) 0.7

If A and B are independent events, P(A) = 0.3 and P(B) = 0.4 then
P(ANB) =

(A) 0.12
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42. 3Tegg B i] &l HgWsl AHTTE &

T

® %, 7

© [* 3]

O |5 §

(A)

The adjoint matrix of matrix [é i

4 =2
@[5 7]
4 =3
® % 7] N
4 3 S
©f 3 0
] N3
©) [5 9] N
T
43. f TF Y@ f-RE FeAE F F o=, quw = & A x 7 T AT L
(A) 6
(B) 7
(C) 8
(D) 9
If the direction cosines of a line be %% and \/% then a value
(A) 6
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44. aﬁAz[(l) (1)] ar A% @7 AT
(A) 25A

(B) 24A

(C) 2A

(D) A

If A= [(1) (1)] then the value of A is
(A) 25A

(B) 24A

(C) 2A

(D) A
\@@

(§§

45.aﬁm'o',%§b=3a+bQ?QﬁﬂTﬁHE’fFﬁ(ZOB)05=

(A) 28 S

(B) 32

(C) 36

(D) 22

If the operation '0' is defined as a o b = 3a + bthen (20 3) 05 =
(A) 28

(B) 32

(C) 36

(D) 22
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46. afe A={1, 2}, B={a,b,c} & A & B & Welsll HT el TEAT &
(A) 9

(B) 12

(C) 64

(D) 3T @ @5 TET

If A={1, 2}, B={a,b,c} then total nhumber of functions from A to B is
(A) 9

(B) 12

(C) 64

(D) none of these

47. Tie A={a, b}, B={1, 2, 3} AT A & B & Theh Belell &I Fel TEAT &

(A) 6

(B) 8

(C) 9

(D) 318 & HIg el

If A={a, b}, B={1,<2, 3} then total number of one-one functions from A to
B is

(A) 6

(B) 8

(C) 9

(D) none of these

48. 3Tdehel THIHIOT dx + dy = 0 &T gl §
(A) x = ky
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(B) x* + y* = k

(C)x +y=Kk

(D) xy =k

The solution of the differential equation dx + dy = 0 is
(A) x = ky

(B) X* + y* =k

C)x+y=k

(D) xy = k

49. 1.1 =
(A) 0
(B) 1
(C) - 1
(D) j

50.7x1

2 ®
(A) k @Q
(B) —k

1]
%

(C) 0
(D) 1

51. sin (sin—1 %) =
(A) 1

(B) 1
© 2
(D) 0
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52. sin"lx +sin"ly =

53. x € [-1 1],sin[2 (sin™!x + cos™ ! x)]

(A) O
(B) 1
(C) -1
(D) 1/2

Q
() 0 >
(B) 1 $\®

2 $
(©) =
(D) 2

55. |x| > 1,tan |- (tan"Lx + cot ™1 x)| =
(A =

(B) V3

(C) 0

(D) 1
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56. %(ex + cos 5x) =
(A) e* = cos5x
(B) e* + 5sin5x

(C) e* —5sin5x
(D) e* — 5cos5x

o57. %(sin 2x +e* —cosx) =
(A) cos2x + e* —sinx

(B) 2cos2x + e* +sinx

(C) 2cos2x + e*¥ — sinx

(D) —2cos2x + e* + sinx

58. % Gsec 4x) =
(A) sec 4x. tan 4x g\\
B) sec? 4x

(B) N
(C) tan? 4x N

(D) % sec 4x. tan 4x

59. %(loge 10x) =
1

(A)

(B) =

(C) 10x

(D)

R |~
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60. el 3x-4y+6z=11 T Hl fdeq A g &

Distance of the plane 3x-4y+6z=11 from origin is
(A) =
(B) =
C) 7=

(D) 7=

61. fsin%xdx =
3x

3
(A) k —,Ccos~

(B) k + Zcos%x (§§\

(C) k —2cos
3 4 %
4 3x

(D) k +3c0s—-

62. fcos%xdx=
(A) k+sin%x
7 . 7x
(B) 5+sm;+k
9 . 7x
(C) ;sm;+k

(D) k + cos%x
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63. [sec? Zdx =
23

17 17x
(/\) k +—E§tar17£;
(B) k— ~ tan 2=
23 23
23 17x
(C) k + Etan;
(D) k — 2 tan =
17 23

64.[ 4% dx =
(A) 4 + k

(B)
(C) 1“? +k

4x+

1
1+k

x+
4x
(D) —@-Fk

65. [x (4x* — 6)dx =

(A) 4x3 —6x + k \\Q&Q
4x* Q§§>
(B) T—6x2+k O

(€) x* —3x2 4k

x3
(D) = —3x% +k

66. [e*(cosx —sinx)dx =
(A) e*sinx + k

(B) e*cosx + k

(C) —e*sinx+k

(D) k —e*cosx
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67. [e*(x3 + 3x%)dx =

(A) iex +k
(B) —xe* + k
(C) k ——e

(D) k ——e*

69. 3k.(131—7k) =

(A) 39 } N
(B) 0 &S\
(C) 21 §&%

(D) 18 S

70. %(sin %x) =

4 4x
(A) - C0s—

(B) —%cos%x

(C) 2cosZ

4 5
5 4x

(D) —,Cos—
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71. ol x-8y-9z=12 & HHAIR TFH dol FH FHRT gl
(A) x+8y+9z=12

(B) x-8y-9z=2023

(C) 8x-y-9z=12

(D) x-9y-8z=12

Equation of a plane parallel to the plane x-8y-9z=12 is
(A) x+8y+9z=12

(B) x-8y-9z=2023

(C) 8x-y-9z=12

(D) x-9y-8z=12

72. (31— 4k) =
(A) 1

(B) 25

(C) 7 g\@
(D) 49 N

73. |feer 37— 9 & foam & s g &

37-97
—6
37-97
6
37-97
90
(D) =

The unit vector in the direction of vector 37— 9jis

(A)

(B)
(C)

37-97

(A 15
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(B) 1=
37-97
() =
37-97
(D) *=

74. (1—j+k).(71- 8] + 9k) =
(A) 22
(B) 23
(C) 24
(D) 25

75. GAAA 3x + 4y + 5z = 13 SN x-31&T W SH[El AT Hd:WUS §

(A) =

(B) =

© 5 ™
o - &

. N . .
The intercept cut%@on x-axis by the plane 3x+4y+5z=13 is

(A) =
(B) =
(C) =

1

(D) =

76. A el ax+by+cz+d=0 % WAIR ¥@N ~=>=-g
(A) a+2b+3c=0

(B) -a+2b+3c=0
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(C) 3a+b+2c=0
(D) 3T & HIg LT
If the line _ilz =§ is parallel to the plane ax+by+cz+d=0 then

(A) a+2b+3c=0

N

(B) -a+2b+3c=0
(C) 3a+b+2c=0

(D) none of these

77. If¢ & do ayx + by +ciz+dy =0 I ayx + by + ¢,z +d, = 0 TER
ofFd g ar

a_bh_a
(A) Z=3t=

by c2

a1 b a _
(B) a2+b2+cz_0
(C) aa, +b1b2+C1C2 =0

(D) gt & FE Q

Q
If two planes a;x + byy %g:} +di =0 and ay,x + b,y +c,z+d, =0 are
mutually perpendicule\@(?hen

(A)ﬂ:b_lzc_l @

a; by

(C) aa, + ble + 16 = 0

(D) none of these
78. (111 - 77— k).(8T—j — 5k) =

(A) 95
(B) 100
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79. P(A) == ,P(B) = —,P(ANB) = — = P(4/B) =

80. P(E) =2,P(F)=2,P(EUF) =2= P(ENF) =

(D)

dy

The integrating factor of the differential equation —

2 .
+7y=5x2 IS
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82. (3k — 71) x 2k =
(A) —14f

(B) 147

(C) 117 — 2k

(D) 2k — 11

83. |T—2] +2k|=
(A) 3
(B) 6
(C) 7
(D) 5

84. T x+2y —3z+15 = 0 & e & o 3T
A) 1,2 3 O
(A) 1, 2, (&‘@
S
(C) 1, 2, -3 $

B) 1,2 3

(D) 1, 2, 15
Direction ratios of .the normal to the plane x+2y-3z+15=0 are
(A1, 2, 3
B) 1, 2,3
C) 1, 2, -3
(D) 1, 2, 15

85. el Y@ “o =22 =12 & g g ¥
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(A) 1, -2, 5
B) 3, 2, 5
(C) 3, 3, 6
D) 1, 3, 5

x—100 —99 z—98 .
86. &el Y@r — =y102 = farfafea & @ 5o foeg @ TSR §7
(A) (101, 102, 103)

(B) (98, 99, 100)

(C) (100, 99, 98)

(D) (99, 100, 101)

x—100

Through which of thextfollowing points does the straight line
y—99  z-98

— 7
102 103 pass:

(A) (101, 102, 103)

(B) (98, 99, 100)
(C) (100, 99, 98)
(D) (99, 100, 101)

87. (10T+]+k) x (=41 +7f - 11k) =
(A) -187 +106] + 74 k

(B) 187 — 1067 — 74k
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88. = (x* +e*) =
(A) 3x?

(B) 3x?% + 3e*

(C) 3x2 + ¢*

(D) 3x2e*

d :
89. — (tanx + sin x) =
dx
(A) secx + 2sinx cosx
(B) sec?®x + cos?x
(C) sec? x + 2sinx cos x

(D) sec? x — 2 sinx cosx

90. L (e5) = N

(A) e5% &
N\
(B) 10e>* $

(C) 5e°*
(D) 25e°*
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1
92. [ sin'” xcos® x dx =

12

(D) 2

93. [ x'7xdx =
(A) 0

(B) 1

(C) 3/17

(D) 14/3

94. 3 [vxdx =

&

(A) =x%2 + k (§§

(B) 2x3/% + k @Q

N\

(C) 3x%/2 +k

(D) sx¥/2 + k

95. [ 2 x =

x2—4

(A) log |x+2| + k
(B) log |x* - 4| + k
(C) log |x - 2| + k

x+2

(D) log | 22| + k
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3dx

N 9x2=
A) tan13x+ k

96. [

sec 13x+k

)
)
)
D)
97. 25 [sec5xtan5x .dx =
(A) 25sec5x +k

(B) 5sec5x +k

(C) 25tan5x + k

(D) sec5x + k

98. [sec?4x dx =

(A) tan4x + k Q

Q
(B) %tan 4x + k &S\
(C) 4tan4x + k $&Q%

(D) 8tan4x + k

99. k.(i+)) =
(A) 0

(B) 1

(C) 2

(D) - 1
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100. [—2_ =

1+36x2

6tan"l6x + k
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